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PHYS 101: General Physics 1 KOC UNIVERSITY Fali Semester 2012
College of Sciences
Seetion 1 Quiz 1 27 September 2012

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Find the vector A4 that has unit magnitude and that is perpendicular to the two vectors

B=2j+3k and C=1-].
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PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2012
College of Sciences
‘Section 2 Quiz 1 27 September 2012

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student 1D: Signature:

Find the angle between (4— B)and A4, for A=4f + j+2k and B=2{ +3j+k.
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PHYS 101: Genera! Physies 1 W OC UNIVERSITY  Fall Semester 2012
College of Scicnces
Section 3 Cruiz 1 27 September 2012

Closed book. Mo ealeulators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Stuwa ot ID: Signature:

Find a vector that 1s perpendicular 1o both (A - B) and (;1 + B) and has a magnitude
~equal to the scalar product of A and Bwhere A =2 —3] + 3 and B=1- j+ 2k .
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PHYS 101: General Physics 1 KOC UNIVERSITY Fall Semester 2012
College of Sciences
Section 4 Quiz 1 27 September 2012

Closed book, No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Find a vector 4 which has magnitude 3 and is parallel to B =5f +3; — k.
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PHYS 101: General Physics 1 KOC UNIVERSITY

Section 5

College of Sciences

Quiz 1

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name:

Student ID:

Fall Semester 2012

27 September 2012

Signature:

Calculate the vector product of (4 + B) and (4 — B ) where 4 =5/ —2 + 4k and
B=3+4]-2k.
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